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Section A
Crime and Punishment, c.1250 to present

Answer Questions 1 (a—c), 2 and 3.

Name one way criminals could avoid being executed in the medieval period (1250-1500). [1]

Name one reason people made accusations of witchcraft in the early modern period (1500-1750).

[1]

Name one development that improved policing in the second half of the 1800s. [1]

Write a clear and organised summary that analyses law enforcement between 1250 and 1750.

Support your summary with examples. [9]

Why did transportation to Australia become a common punishment in the period 1750-19007?

Explain your answer. [10]

Answer Question 4 or Question 5.

‘By 1750, punishments for committing crimes were harsher than they had been in 1500.’

How far do you agree?

Give reasons for your answer. [18]
“The main reason crime changed between 1900 and ¢.2015 was the emergence of new
technology.’

How far do you agree?

Give reasons for your answer. [18]

© OCR 2024 J411/15 Jun24



